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Question 1
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Select one:
a. -3+5i

b. 4+15i
3+4i

d. 27+11i

g

Question 2
Yl Doy [ iv/3)®
Select one:
a.-1728
b. -1728i
c. 1728

d. 1728i
Question 3
(4 — 24)?
Select one:
a. 16-4i

b. 16+4i
c. 12+8i
d. 12-16i
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Answer:|


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=(3+4i)(5-3i)
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=(3+i\sqrt{3})^6
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=(4-2i)^2
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A=\begin{pmatrix}1 & -3 & -1\\2 & 4 & -3\end{pmatrix} 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=B=\begin{pmatrix}-2 & -1\\1 & 0 \\7 & -3\end{pmatrix} 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=2A^T-3B
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Answer:l

Question 6
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Answer:l

Question 7
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Answer:l
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Answer:l

Question 9
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Select one:
x=(79)
x=(3 3
x=(37)
=5


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=C=\begin{pmatrix}1 & -3 & -1\\2 & 4 & -3\end{pmatrix} \cdot \begin{pmatrix}-2 & -1\\1 & 0 \\7 & -3\end{pmatrix} 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\begin{vmatrix} 1 & -1 & 2\\ 3 & 0 & 1\\-2 & 1 & -1 \end{vmatrix}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\begin{vmatrix} 1 & -1 & 2\\ 3 & 0 & 1\\-2 & 1 & -1 \end{vmatrix}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A_{32}+A_{21}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A=\begin{pmatrix}2 & 1\\-1 & 2\end{pmatrix} 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10A^{-1}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\begin{pmatrix}3 & 2\\1 & -4\end{pmatrix} X=\begin{pmatrix}1 & 19\\-9 & -17\end{pmatrix}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=X=\begin{pmatrix}-2 & 7\\1 & 3\end{pmatrix} 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=X=\begin{pmatrix}-1 & 3\\2 & 5\end{pmatrix} 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=X=\begin{pmatrix}0 & -1\\2 & 4\end{pmatrix} 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=X=\begin{pmatrix}1 & 4\\3 & 5\end{pmatrix} 
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Answer:l


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\begin{cases} x-2y+z=7 \\ 4x+y-z=4 \\ 2x-y+2z=11\end{cases}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=x
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= \begin{cases}2x - 2z = 4 \\x - 2y - 5z = 0 \\x + 2y + 3z = 1\end{cases}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\bar{A}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= rankA + rank \bar{A}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\left | \vec{a} - \vec{b} \right | 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= \left | \vec{a} \right | =3 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= \left | \vec {b} \right | =5 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= \left | \vec{a} + \vec{b} \right | = 2 \sqrt{13} 

